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( D )2. As right pic, Gorge wanted to cut a painted square from the isosceles right
triangle paper. How much the length of x is?
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( B )8. Please calculate " 124+A=A....B ; , and how much the remainder of A+B is?
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( C )21. Itis a addition in right graph. A different sign represents a different number.
How many possible values of D? (A)5 (B)6 (C)7 (D)8
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( B )22. Joe and Mary had an investment to feed n pigs. Each pig was sold n dollars
and was sold out. They decided to share the money equally. Joe takes away 10
dollars at first, than Mary takes away 10 dollars, Joe takes away 10 dollars,..... .
Finally , Mary takes the money less than 10 dollars. How much money should
Joe give Mary the money? (A)1 =~ (B)2 ~ (C)3 ~ (D)4 ~
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(A )24. The first row is one to seven. The 2nd row is eight to fourteen. ....It was
shown as right pic. Use a transparent L ruler to cover three numbers. Look at it,
the sum of the three number is 39. A transparent L ruler can spin. If the sum of
the three numbers is 346, how much the smallest number?

(A)111 (B)110 (C)121 (D)120 :
12 13 14

15 16 17 19 20 21

22 23 24 25 R6 27 28

FERU
X | xtl
(1) x+X+1+x+7=346 » 3x=338 » x:%(n 2) -
X | x+l
(2)x+x+1+x+8=346 » 3x=337 » x=320 (2 ) ll
3
x+8
(3)X+x+7+x+8=346 » 3x=331 > xz%‘%(% £) )
x+7 | x+8
(4)x+x+6+x+7=346 » 3x=333 - x:%%:m(;ﬁ 2)
X
i (A) o
3:3( ) X6 | xt7




( B)5.THARRREF F F2bD| 2L B2 A BaniFREF  RFL

o R BN e R R B R S £

[l A —

EE 3 TE HiE SHER ITE 7% e =t =t

FEEE(Z ) FREE(AL ) FEEE(ZCE) BREE( )

FEAE(KM) | & % (Or)

0~5 20

5~7 25

7~9 30

9~11 35

11~13 40

o Zz e
20

EEEE(ZE) l%‘ (B)



SR gRi R AR E SRR B

(% 12452 204 > 5 34110 & > £ 50 4)

R R T ST E RS E - E L ¥
PRGOS ENARRET AT £N3 B > cmeG I SO R?

fA7 BT - Bdet 100 0 Rle § 40 B

a z

- B 10 40
R 7 43

e £17 4 i 35 15
vTEN 3B 32 18

718 B o
23 FFEA TN FEEY LI R8Tk RTE 2020 - 3f
;}-}LT‘J;’-L}sA ’1+1-§F'iTj:a-44& ngﬁﬁﬁ,#?j?’ggﬁi—t,?ﬁ_w,ﬁg
B4

(2~3~4) =12
39+(12+2+12+3+12+4)=3
12X3=36 %

%:36 1 o

BEHEYH T A ¥ FH B2 tEAE B EBHY h03 6 M K(T
MR AGE o B FE B M) EN AT T UL NS P FEAe 2P RFES
Al PR e P ket e PR R ILE A R

fa47

KO PHER 3™ > £ 20 f&F7)

123 ~ 124~ 125 ~ 12638 1~ 2

134 ~ 135 ~ 136 ~ 145

146 ~ 156 ~ 234 ~ 235

236 ~ 245 ~ 246 ~ 256

345 ~ 346 ~ 356 - 456-)*& 7
_H.—r'\fq_-zrm,% F 4&»5355,
2% %

~2
Aﬁ4&%&§’ﬁﬂ?ﬁ§5kﬁgﬁﬁﬁf

FI0F/210F



